Name:
Subject: Mathematics

Solve the Pr‘obhm in your notebook. Choose the correct answer.

Date:
Topic: Multiply Word Problems

-

L

Cody saw D spiders. Each spider had

8 Le:gs. How many te._qs are there in
all?

a. 35
b. 40
c. 50

="

Jeremiah owns 17 pairs of socks.

Each pair is made of 2 socks. How

many SOCE.S doe.s hi!. ”L(LVG. in d.tl{?

o
a. 32 t‘ e
b. 30

c. 34

o

-

.,

Sha.béya, owns 12 pairs of

sunglasses. Roline owns 3 times more
than Shakiya,, How man.y awn:gla.ss&s

does Roline own?

d. 26 1 3

e. 36
f. 46

Danishka has T rows of Pt’-ne.a.‘ppf,e.

Pf.a.nta. Each row has 8 p£¢nf;s. How
many pineapple plants does she
)

ave!

a. b6
b. 49
c. 63

-

Rashad and Ea.gf'a.ei cat 12 loaves

of bread. Each loaf has 6 slices. How
many slices do fhzg eat in all?

a. 62
b.72
c.24

What 2 Ke,gwomfs do we look for
when sot',vi.ng muii‘iﬁoli.ca,ﬁon

pmbiams?
left

sum each

altogether times




